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Info...

® A Quiz is due tonight.
e A new EMCFs and Homework are posted.

Sy Liebergot, Former NASA Flight Controller
“Apollo13: The Longest Hour”

Tuesday, November 13
7-8 pm in SEC 100

November 12, 2012

“Apolio 13: The Lbngest Hbur”

Sy Liebergot, Former NASA Flight Controller

N Y/
Tuesday, November 13, 201 2
7-8p.m.
Science and Engineering Classroom Building (SEC), Room 100
(Building 529 on the UH Campus Map)
University of Houston
Hear what it was like to be a front-line Flight Controller in NA
Control when a monster failure occurred during the Apoll
the moon. Sy Liebergot will share his reactions, NASA footag
of the explosion and the heroic efforts to bring the crew back

Earth. He’'ll also discuss
Tom Hanks and Ron Howard. -

* Sponsored by the Houston-Louis Stokes Alliance for Minority Participation
and the Collgge of Natural Sciences and Mathematics

UNIVERSITYof HOUSTON

COLLEGE of NATURAL SCIENCES & MATHEMATICS
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Note: Most differentiation involves the chain rule, so we should
expect “that most antidifferentiation will involve

undoing the chain rule. )

(u-substitution)

November 12, 2012

Undoing the chain rule...
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Undoing the chain rule...
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L Question: How do we handle u-substitution with a definite integral?
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Answer: We change the limits of integration to reflect the substitution
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